FrE AT 1 AR #10 T8

EEME 2.12  KOBEE (0,b) KBV T n=3 L L, RAHZER L7 —7 —BHZRD X,
(1) 2= fle,y) = (¢ =Dy +2) (a,b) =(0,0)

@) 2= fow) = Ty (@9 = (0.0
(3) 2= fle,y) =sin(w+y) (a.0) = (F.7)

n =3 TRIGRIEMEM L7203

f(a7 b)+fac(a7 b)(x—a)—i—fy(a, b)(y_b)"'—% {fwac (a7 b)(l‘ - a)2 + 2fmy(av b)(l‘ - a)(y - b) + fyy(aa b)(y - b)z}

Thbd,
(1) fz :y+27fy :xf]-afzz :Oafyy :Oafa:y:]- fot@“f‘

242z —-y+ay

L%,
(2) fo=2(1—-22+3y)72, f, = =3(1 — 22+ 3y) 2, fou = 8(1 — 22+ 3y) 73, fu, = —12(1 — 22+
3y) 73, fyy = 18(1 — 2z + 3y) 3 2D T

1+ 2z — 3y + 42 — 122y + 9y

L5,
(8) fo = fy=cos(x+Y), fox = foy = fyy = —sin(z +y) ROT

-5)-6-3)

L5,

EEME 2.13  ROBEBOmK - a2k &,

W) z=a—ay+y?>—22+3y+1 (2)z=a2%-bay+2y°+x—y—3
azx + by (a2

()= iy @#00#0) (@) 2= @) (az? 4 ) (a > b> 0)

(1) RANCEEN R ERD Dy 2 =20 —y—2,2y = —0+2y+3 RO THEILHEX 2, = 0,2, =0 %
]. 4 o/ N ~ B =

ﬁ¥< & xr = E,y: 7? ﬁi{%’%ﬂéo (2) /j_\’(:/\“/ VTV%E+E“€‘50 Zyx = 2,Zyy = 2,ny =-1

ROTH(z,y) =22 — (-1 =3> 0,2, >0 Thd, LTz 1% (;g) ChNE &
L%,

_ 1 3 1 3

AR & RARIC BT ——,— | BERFAT 3, e y
(2) T & BRI EH5S 2 & ( = 17) BERATH D H( - 17) 17 <0 Th
%o BEFSDRAE % 52 720 O CRMEIZAFE L 72V,

a 2(ax + by)x b 2(az + by)y L

Tz = - = - — 72D TS AL

(3) = ZryP 1l (2212 VT 2241 (242 1) RO TEAR
$2+y2+1

WG 2z, = 0,2y = 0DfETH D, 2, =08V z = a b/, £z, =0

2(ax + by)



22+ y?+1 22+ y?+1
Tyt e k= L s g kayy = bk 2B, =
2(ax+by)b&£6 2(az + by) el SRR a,y = bk L7205 Nz

ze(@®+ 1?2+ 1) =a(z? + 92+ 1) — 2(ax + by)r =0 ITfRAL T

L0y =

a((a®> +*)k* +1) — 2(a* + b*)ak® =0

1
15D, e b h=4d————— &5 7T, BERAIT
i * Vva? + b2

a b
Y)=| £ ,E
(®3) ( VET P m)

Thd,
2(ax® — 3y*ax — 3ax + 3byx? — by — by) 2(3ayx? — ay® — ay — bx> + 3bxy? — bx)
H(:E ) _ (.TZ + y2 + 1g3 (.TZ + y2 + 1)3
Y 2(3ayx? — ay® — ay — ba® + 3bwy? — bx) B 2(3byx? — by + 3by — 3yax + ax® + ax)
(IQ +y2 + 1)3 (I’Z +y2 + 1)3
EIRDIN,
Vst +b?
a b e e— 0 a2 + b2
H(+ .+ = 2 = >0
VaZ+2' T Va2 0 Va? 4+ b2 4
2

ROT (2,1) :( ) A% 5% B, R

a b
+ =+
Va2 +b? " Va®+b?

z(:i: a N b )_ a® +b?
Va2 + 02 Va2 +2)  a?+b2+1

a b
c

(4) 2z = —2ze~ @) (az? 4+ by?) + 2~ Tz, 2, = —2ye= V) (az? + by?) + 26~y
ROTHEN TR 2, = 0,2y =0 2 & (ZZORBEIIFHFATTHZ L)

Thsd, 2T

:det< @ 2 ) =ad —bec LW IO REEEF T,

c

(z,y) = (0,0), (0, £1), (£1,0)

L%,
Hizy) 2e~ (V") (—5a22 — by? + 20ta + 222by? + a) Azye~ @) (az? 4 by — b — a)
T,y) =
Y dzye= @) (az? 4 by? — b — q) 2e= (@ H+9") (—aa? — 5by? + 2y%az? + 2% + b)
DT
2 0
B0,0) = | = 4ab> 0
0 2b
2(a—1b)
0 8(a — b)b
B(0,1) = e = _ 0
( ’ ) 0 7471) 62 <
e




2(a —b)
0 8(a — b)b
B(0,-1) = e =2 7
(Oa ) 0 _ib e2 <0
e
4a 0
B 8(b—a)a
B(1,0) = ()e 2b—a) | = 2 7 0
e
4a 0
- 8(b—a)a
B(=1,0) = 60 2b-a) [T 2 0
e

Lb, LoT 2z (x,y) =(0,0) THU/IME 2(0,0) =0, (z,y) = (£1,0) THEKXE 2(+1,0) = %

;Ek%)o

EERIRE 2.14
(1) 3:LOFIN—ED 3 AIEO T Tl KD b D ERD X,
(2) EMNCHNEET D 3 AO 20 CHifER KO b D RD X,

(1) 2D A 7ORBETIIMI2ZBUITR SN THAEAENED D, Z I TlE~m rORXE W TE

9, ~aroAR: 3HBO3WOESE abe bt DL, s=%b+c LR bE, 34

B S 1L S=1/s(s—a)(s—b)(s—c) L1725,

SAROKLOEIE z,y,2 £ T5, SUOEZIOMI—ETHDHOTINE 25 &<, AL
T+y+z=25(5s>0) BHZLTNWD, 2,9,z ITLOEITHLH0H 2> 0,y >0,2>0 &z L
TW5, 2,9,z D 3ARO 3WUZERTTEOITIEIAREN Hbo+y>2zy+z2>z,2+0>y
WAL TCWALEPLETH D, WIZINODAREFEADBRILL TND & E, 3WUDREN 2,y,2 T
HDEOIRIANGET D, 2 ZEHEL T o,y DREXND 2 < s,y < s,z +y > s BELI
Do WIZZD 3 DOREFEREHTT 2,y 1TAD 6 DOARNEREN T, (ZOHMDIHFETF =
75 5%, ) ko TD={(z,y) e R?| s <s,y<s,x+y>s} LTHRKNEMEEEZ S, Lo
LR CIb 7oAk, BREEELZEA T 2 IIIEEN G RAES THLIMERDH D,

D={(z,y)eR*| s<s,y<s,at+y=s} LB, TITESRRRDLE 2 R{EKRTH
v, MHHRALT D, Lo TS BERKICRLIGAEZRD DT, f(r,y) =52 =s(s —x)(s —
Y(r+y—s) £BE, D LT fz,y) ORKEEZRD D, DITARALELSTHY, f(z,y) X D
LR RS O TR KMENFET 5, BR L3N EO SN R RMEE 5 x5, R LT
B f(r,y) =0 72, WHTRKEEZ &2 801E (RFED) BEIZ/2> T D, BERAEZRD D,
fo = (s — 2)(s — ) — (s —w)(x +y— ) = 0, fy = (s — 2)(s —y) — (s — )+ y—5) =0

19 (2.9) = (0,5).(5,0), (5,5), (25 23) WL D, = ORI 52 B AAMEHET 5 0

373
2 2

- 2 ) S, BT £ 0 HliTE 5% % 3 MIGIEE 3 Al Ch B,

T, T (x,y) = (
(2) EMZ R O ZHLETLH¥E r DM ET D, FICNEET 5 3 4% ABC &%, ff LZAOB =
5,/BOC =t,/COA =u B & s+t+u =21 BENLLTWD, IKEREEZRDDHDT, ABC I
O %BEALTNHELTEY, 20L& ABC N3 ARELRTHHIO<s<m,0<t<m0<u<m
Thod, ZOREANERTHMHEME D &T2& D={(s;t) e R?| s<mt<ms+t>n} &



BB (KFHF =y T2 L),
3 ABC OEIE S 1%

1
S = 57"2 (sins +sint + sin(2r — s — t))

DT, D={(s,t) ER?| s<mt<ms+t2m} ETz=f(s,t) = %7‘2 (sins +sint + sin(27 — s — t))
DK Z RO DHRIBEIC /2%, DLUTIg

2
REME 215 KTHALRBBIIMNL T DY g r,
MH1l-y+ze?=0
(2) 23y +y—2=0
(1) XKoLz 2 THOT 2L
—y +e¥+aeVy =0 (1)
Lib, £oT
r_ ev
4 1—xe¥

e, X)) O E x THSYT 5 &

—y" +2eYy + ze¥(y')? + ze¥y” =0

LR HDT
0 e?Y(2 — zeY)
(1 — zev)?
L%,
(2) KoWN% z THWHTH L&
3z2y3 + 3232y +y —1=0 (2)
L%, £o7T
Y = 1 — 3223
1+ 3x3y2

L%, X (2) OWLE ¢ T T2 &
6zy® + 182%y%y + 623y (y')? + 323y%y” +y" =0
LR BDT

S = 62y (92%9% + 323y* — 3y — 32ty — 3wy — 2?)
(1 + 323y2)3

L5,



